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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-") f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N=40055;

1l n,m,mx[N<<2][2]1[2],alN];
11l ans;

#define lson k<<1,1,mid
#define rson k<<1|1,mid+1l,r
void pu(int k
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mx [ k =max (max (mx | k<< ,mx [ k<< +mx | k<< ,mx | k<<
+mx | k<<1]| ;
mx [ k =max (max (mx [ k<< ,mx | k<< +mx | k<< ,mx | k<<
+mx [ k<<1]| ;
mx [ k =max (max (mx | k<< ,mx [ k<< +mx | k<< ,mx [ k<<
+mx [ k<<1]| ;
mx [ k =max (max (mx [ k<< ,mx [ k<< +mx | k<< ,mx [ k<<
+mx [ k<<1]| ;
void build(int k,int 1,int r
l==r mx | k =al[l]; C
int mid=1+r>>1;
build(lson);build(rson);
pulk);
void update(int k,int 1,int r,int a,int b
== mx | k =b; :
int mid=l+r>>1;
a<=mid) update(lson,a,b);
update(rson,a,b);
pulk);
int main
n=read();m=read();
int i=1;i<=n;i++
alil=read();
int x,y;
build(1,1,n);
int i=1;i<=m;i++
x=read();y=read();
update(l,1,n,Xx,y);
ans+=max (mx ,max (mx , max (mx , MX c

printf("slld\n",ans);
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<queue>
#include<map>
#define fi first
#define se second
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar
;isdigit(c);c=getchar
;isdigit(c);c=getchar

’

C::'—' f:-l;
k=k*10+c-'0";

const int N=20055,M=205,inf=0x7fffff;
int n,m,k,ques,sum,dis[M|[N],a[N],vis[N];

11l ans;
typedef pair<int,int> P;

priority queue<P,vector<P>,greater<P> >q;
int tot,to[N],nextt[N],head[N],w[N];

void add(int a,int b,int c
to|++tot|=b;
nextt|tot|=head[al;
head|a|=tot;
w|tot | =c;

void dij(int x

int i=1;i<=n;i++

dis|[x|[i]=inf;
dis[x][a[x]]=0;
g.push(P(0,alx ;
lq.empty
P y=q.top();q.pop();
int u=y.se;
dis|x||ul<y.fi

.
’

int i=head|u];i;i=nextt[i

dis[x![to[i

dis[x][to[i]]=dis[x

>dis|x
ul+w(i!,q.push(P(dis|x|[tol1

ul+wli

k*f;

,toli
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int main

n=read();m=read();k=read();ques=read();
int x,y,z;
int i=1;i<=m;i++
x=read(),y=read(),z=read(),add(x,y,z);
int i=1;i<=k;i++
alil=read(),vislalil|=1i;
int i=1;i<=k;i++
dij(i);
int i=1;i<=ques;i++

x=read();y=read();
vis|Xx

dis|vis(x!|![y]|!=inf
sum++,ans+=dis|vis (x| |[y];

int mn=inf;
int j=head!x];j;j=nextt|]

dis|vis|/tol]j yl!=inf
mn=min(mn,w/|j|+dis[vis|to]l] yl);
mn!=inf

sum++,ans+=mn;

cout<<sum<<"\n"<<ans<<endl;
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F. Combination Lock
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

#define mp make pair

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=1010;
int n,A,B;

PII almaxn];

int dplmaxn| maxn],ans;
int main

n=read();

int i=1;i<=n;i++)A=read(),B=read(),ali/=mp(A,B);
sort(a+l,a+n+1);

int i=1;i<n;i++

int k=i-1,val=alil.Y;
int j=i+1;j<=n;j++

k & aljl.X-alil.X>=ali]l.X-alk].X

val=max(val,dpl/k![i]);
k--;

dplil[jl=val+aljl.Y;
ans=max(ans,dplil[j]);

int i=1;i<=n/2;i++)swap(alil,aln-i+1]);
mem (dp,0);
int i=1;i<n;i++

int k=i-1,val=alil.Y;
int j=i+1;j<=n;j++
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k & alil.X-aljl.X>=ak].X-ali].X

val=max(val,dpl/k![i]);
K--;

dplilljl=val+aljl.Y;
ans=max(ans,dplil[j]);

printf("%d\n",ans);
0;

H. Crowded Cows
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

#define mp make pair

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=50010,inf=2e9;
int n,d,ans,A,B,Max|[20][maxn],len[maxn];
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PII almaxn/;
int query(int L,int R

L>R inf;
int bin=len[R-L+1];
max (Max|[bin][L],Max[bin][R-(1<<bin)+1]);

int main

n=read();d=read();
int i=1;i<=n;i++)A=read(),B=read(),ali|=mp(A,B);
sort(a+l,a+n+1);
int i=1;i<=n;i++)Max[0][il=alil.Y;
int i=1; (l<<i)<=n;i++
int j=1;j+(1l<<(i-1))<=n;j++
Max|[i|[jl/=max(Max|[i-1][j],Max/i-1][j+(1l<<(i-1
int i=2;i<=n;i++)len[il=len[i>>1]+1;
int i=1;i<=n;i++

int l=lower bound(a+l,a+n,mp(ali].X-d,0))-
a,r=lower bound(a+l,a+n,mp(alil.X+d,inf))-a;
query(l,i)>=2*ali].Y && query(i,r)>=2*ali].Y)ans++;

printf("%sd\n",ans);
0;

J. No Change
ao
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// luogu-judger-enable-o2
#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>

using namespace std;
const int N=100055;
inline int read

CVBB ACM Team - https://wiki.cvbbacm.com/



Last
update:
2020/05/30
08:54

2020-2021:teams:die_java:front_page_springtraining7 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:die_java:front_page_springtraining7

int k=0,f=1;char c=getchar
;1isdigit(c);c=getchar
;isdigit(c);c=getchar

int sum[N/,n,m,dp/N]|,c
int main

m=read();n=read();
int i=0;i<m;i++

int i=1;i<=n;i++
=0x3f3f3f3f;

sum n+
int i=0;i<(1l<<m

dplil>=n

int j=0;j<m;j++

i (1>>7)&

k=(upper bound(sum+dp[i!,sum+2+n,sum|[dp|i
=max (dp[1i]

sum-1);dpli](1<<]j

int i=1;i<(1l<<m
dplil>=n

int sum=0;

int j=0;j<m;

((1>>])&

ans=max(ans, sum) ;

cout<<ans<<endl;

K.Line of Sight

g

k=k*10+c-'0";
,ans=-1:
clil=read();
sum[il=read()+sum|[i-
14+
int
+Clj
<<j)1,k);
;i++
j++
sum+=c|j|;
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N=3000055;
int n,m,sum[N],vis[NI;
int main

n=read();m=read();
int i=1;i<=m;i++

int X,Y,A,B;
X=read();Y=read();A=read();B=read();
int j=1;j<=Y;j++
sum/| (111*j*A+B)%n | +=X;

int now=0;
int i=0;i<n;i++

now+=sum/i];
now&&!'vis| i
vis[il=1,now--;

now=0

int 1=0;i<n;i++
lvis|i

now
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now- -;

printf("%sd\n",1i); ;

int i=0;i<n;i++
lvis|[i

printf("sd\n",1i); ;
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